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taskl(a, b, function(err, resultl) {
task2(c, function(err, result2) {
task3(d, e, f, function(result3) {
task4(h, i, function(result4) {
el == s
}); task4
D; // task3
)); I/ task2
)); /] taskl
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2. Async
HISI| SX2 55 Mo

Async 2=

= https://github.com/caolan/async

25 &1

= npm install async

A



2. Async

2 Asyncol CHEAOQI J|

8 e =A MO

= series, serieskEach

= parallels

= waterfall

d

D228, 2

fl

= each
= foreachOf

= map, filter

A



2. Async
& Asyncl| =Xt &

B series(tasks, [callback])
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2. Async

® async.series OlHl 2 &

& async.series

async.series([

function taskl(callback) {
callback(null, ‘result1’);

)i

function task2(callback) {
callback(null, ‘result2’);

)

function task3(callback) {
callback(null, ‘result3’);

}
],
function (err, results) {
/I results : [‘result1’, ‘result?’, 'result3']

}
);




[} : async.waterfall




2. Async

® async.waterfall 0l Ml 2 &=

async.waterfall 82 Z &

async.waterfall([

function taskl(callback) {
callback(null, ‘value’);

}

function task2(arg, callback) {
callback(null, ‘value?’, ‘value2’);

%

function task3(argl, arg2, callback) {
callback(null, ‘result’);

}
1,

function (err, results) {

}
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= parallel(tasks, [callback])

async.parallel( [ taskl, task2, task3 ],
function(err, results) {
HEHAZT 1 Z0,'EiA3 2 Z0P, 'BHA3 3 Z2 1]
}
)i




2. Async
©SA A UM 2E

d async.parallel 0l X 2=

async.parallel(
[
function(callback) {
callback(null, 'EH A3 1 Z 1b);
b
function(callback) {
callback(null, 'Ef A3 2 Z 1});
b
function(callback) {
callback(null, 'EH A3 3 Z 1b);
}
1,
function(err, results) {
console.log(E2= A3 &, 2 : ' results); // [EHAT 1 Z 0, '"EHAT 2 Z 0, '"EHA T 3 2 W]
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2. Async




2. Async

o SEEN HISI &

Hs)| =3 =2
= each, eachSeries, eachLimit
= map, filter

= reject, reduct




= each(arr, iterator, [callback])

A 2=

async.each(array, function (item, callback) {
IBHE W &= itemS AtEot= HISI| =&
callback(null);

}, function (err) {

/I async.each 2=

D







3. Promise

2 Promise




3. Promise
2 Promise A

Promise 24X A4 M




3. Promise

* Promise &tEH
Promisel| &fEH
= pending: s%& 28 M
= fulfiled : HISJ| S& &3

* rejected : =& ATH

A



3. Promise
* Promise &fEH B+
8 Promise M4, AEH B+H
= §8EoZ 2 fullfill =&

= Ol & reject &=

8 Promise M A, AR} Bt




3. Promise

2 Promise 0| =&
Promise 0| &2 =2} : then
= fullfilled AtEHL [Ho| =M

= rejected AEHY [HO = uH

=l

new Promise(task).then(fullfilled, rejected);
function fullfilled(result) {
Il fullfilled &' EH L [H2l =2
}
function rejected(err) {

Il rejected &EHY {2 =&




3. Promise
2 PromiseE Al=256t= EHA A

B PromiseE AIE20dl= EBiA A

B A =t et 6

task(arg).then(fullfilled, rejected);

A



Async, Promise

= Async : Flow Control

= Promise : Chain
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